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|s Global Warming A Bipolar Disorder?

We now have a full one-third of a century of satielmeasured lower atmospheric
temperatures, and what an interesting story thenmes are revealing! | think it's fair to
say that they provide increasing evidence in fafdhe “lukewarm” view of climate
change, or the hypothesis of modest warming. ilnate change, “it's not the heat, it's
the sensitivity”, or the amount of warming thathecge in carbon dioxide causes, that is
important.

Almost every map of the decadal trends in the ki@elata is centered on the Equator
and looks like this:
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But much more interesting things are going on adaive poles, where the climate action
is.

For a number of reasons, computer models with adtiadspheric carbon dioxide
preferentially warm the mid-and high-latitude lsaréas of the northern hemisphere that
are ice-free, which also enhances summer meltirigeofelatively shallow ice in the
Arctic Ocean. That, in turn, results in an increbabsorption of solar radiation by the
darker ocean surface, which also contributes tanivay.

Here's a view from over the North Pole, with visidown to 60°N:
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The warming of high-latitude North America and #wacent Arctic Ocean is the largest
of any on the planet. Note that there tends tef®warming over the massive
Greenland ice cap.

That's because Greenland is kind of a miniatureafatica, where things are much
different than they are in our hemisphere.

Here's the view from over the South Pole:
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Antarctica is surrounded by a very cold and turbuteean, whose massive thermal
capacity (compared to land) drastically reduceswiag, compared to what we see in our



hemisphere. But, even a tiny warming of the hugetl@n Ocean must increase the
amount of moisture in the air around Antarcticaskhtan only result in more clouds and
snow over the continent. Indeed, interior Antaitan conceivably cool with a modest
“global” warming. Warming doomsayers convenienggare the fact that even the UN’s
models (current version) forecast that Antarctidhgain ice this century.

A lot of interior Antarctica (and a big patch oktBouthern ocean, for reasons | think no
one understands) is getting colder. There are smulkets of decent maritime warming
right near the coast, which almost certainly angeasing snowfall substantially when the
wind blows onshore.

Here’s the lukewarm part: The bipolar behavigpnstty close-in pattern-to what theory
and models say should be happening. But the madetst even close in the amount of
warming.

The average warming trend in the one-third centdisatellite data is 0.14°C per decade,
but the warming rate in the UN’s midrange climatedels is 0.25°. This differential has
been pretty constant ever since the satellite watacorrected for orbital and sensor
issues.

There’s no reason for that not to continue. Ireothiords, the UN’s average forecast of
3.2°C of warming this century is off by about 40&biich should spell the victory of the
lukewarmers and the death-knell of apocalyptic glatarming. Indeed, it is not the heat,
it's the sensitivity, which looks to be quite a latver than what'’s in those computer
simulations.



